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General English
Section Id : 264490569
Section Number : 1
Mandatory or Optional : Mandatory
Number of Questions : 21
Section Marks : 25
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Id : 26449017215 Sub Question Shuffling Allowed : Yes Group Comprehension Questions : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Question Numbers : (1 to 5)

Read the following passage and answer the questions based on it.

Many great inventions are initially greeted with ridicule and disbelief. The invention of the airplane was no exception. Although many people who
heard about the first powered flight on December 17, 1903 were excited and impressed, others reacted with peals of laughter. The idea of flying an
aircraft was repulsive to some people. Such people called Wilbur and Orville Wright, the inventors of the first flying machine, impulsive fools.
Negative reactions, however, did not stop the Wrights. Impelled by their desire to succeed, they continued their experiments in aviation.

Orville and Wilbur Wright had always had a compelling interest in aeronautics and mechanics. As young boys they earned money by making and
selling kites and mechanical toys. Later, they designed a newspaper-folding machine, built a printing press, and operated a bicycle-repair shop. In
1896, when they read about the death of Otto Lilienthal, the brothers’ interest in flight grew into a compulsion.

Lilienthal, a pioneer in hang-gliding, had controlled his gliders by shifting his body in the desired direction. This idea was repellent to the Wright
brothers, however, and they searched for more efficient methods to control the balance of airborne vehicles. In 1900 and 1901, the Wrights tested
numerous gliders and developed control techniques. The brothers’ inability to obtain enough lift power for the gliders almost led them to abandon
their efforts.

Sub questions

Question Number : 1 Question Id : 26449017216 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

According to the passage, the idea of flying an aircraft was fo some
people.

Options :
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| » heedless

, % uninteresting

3 v distasteful

4 % Unacceptable

Question Number : 2 Question Id : 26449017217 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

People of their days thought that the Wright brothers had
Options :

_ acted in a negative way

, » acted under negative influence
; » acted irresponsibly

4 acted without thinking

Question Number : 3 Question Id : 26449017218 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

By the end of the 18" century, the Wright brothers’ interest in flight grew into
Options :

% an Action Plan
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, » afoolish thought

3 « aneed to act

4 » anunfulfilled desire

Question Number : 4 Question Id : 26449017219 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Lilienthal's idea about controlling airborne vehicles was the

Wrights.
Options :

|« disliked by

, » accepted by
;  disproved by

4 % proved by

Question Number : 5 Question Id : 26449017220 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

The wright brothers almost abandoned their efforts on the gliders due to their
Options :
| = Ablity to design new gliders

Inability to test the power of the glides
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s x Ability to develop control techniques

Inability to obtain required life power for the gliders
4.

Question Number : 6 Question Id : 26449017221 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
He has been working for the company January, 2005
Options :

| % during

, « Since

; % before

L% after

Question Number : 7 Question Id : 26449017222 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

the last rainy season, many houses collapsed in the hilly areas.
Options :

% N
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, w Around

5  During

4 % BY

Question Number : 8 Question Id : 26449017223 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
John's elderly parents always prefer to travel car.

Options :

v BY

» % inside

3¥3in

4. % ON

Question Number : 9 Question Id : 26449017224 Display Question Number : Yes Is Question Mandatory : No Calculator : None Response
Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Tilak is university student.

Options :
|« the
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2. @

4 % No article required.

Question Number : 10 Question Id : 26449017225 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
Sarojini Naidu is Nightingale of India.

Options :

2. % an
3. % @

4% No article required.

Question Number : 11 Question Id : 26449017226 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the synonym for the word INDOLENT from the below given words.
Options :
| % mindful

, o lazy
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5 » deadly

4 % significant

Question Number : 12 Question Id : 26449017227 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Add appropriate question tag to the given below sentence.
She attends the meeting

Options :
| % lsn't She?
, % Does She?

3 % Isn'tit ?

4« Doesn't she?

Question Number : 13 Question Id : 26449017228 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Rekha reached the airport after the flight

Options :
L % has departed

, » Wwas departed
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3 had departed

, » have departed

Question Number : 14 Question Id : 26449017229 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
The principal for a walk in the school ground every day.
Options :

| % Isgoing

, x gone

oes
3.¢ 2

4w went

Question Number : 15 Question Id : 26449017230 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

When the tourists themselves the flower show yesterday, it started
to rain.

Options :
| % enjoyed

9/109



7/14/22, 4:34 PM

have been enjoying

; » have enjoyed

4 Were enjoying

Question Number : 16 Question Id : 26449017231 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Governor the national flag at 8 a.m. tomorrow and

the awardees.
Options :
| hoists, honors

5 % will hoist, will honor

- is hoisting, is honoring

4 % would hoist, would honor

Question Number : 17 Question Id : 26449017232 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
A number of soldiers cduring the war last month.

Options :
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| o were injured

, % areinjured

3 % have injured

4 % have been injured

Question Number : 18 Question Id : 26449017233 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

The Minister, along with his officials the press every Saturday.
Options :
| % is meeting

, % are meeting
3« Meets

L% meet

Question Number : 19 Question Id : 26449017234 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement
One of the doors of the bank by the thief who attempted a
burglary.
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Options :

% is damaged

, o Was damaged

, » are damaged

, w were damaged

Question Number : 20 Question Id : 26449017235 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Choose the most appropriate from the options to fill the gaps in the following statement

Neither John nor Peter this book.
Options :
L has read

have read

were reading

. have been reading
4.

Question Number : 21 Question Id : 26449017236 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: The invigilator was reading out the instructions clearly.

Options :

The instructions have been read out by the invigilator clearly.

The instructions are being read out by the invigilator clearly.
2. %

The instructions were being read out by the invigilator clearly.
3.¢

L% The instructions has been read out by the invigilator clearly.

Question Number : 22 Question Id : 26449017237 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Active/Passive Voice?
Sentence: A small boy could not have carried this big parcel.

Options :

This big parcel could not be carried by a small boy.
1. %

. This bhig parcel could not been carried by a small boy.
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This big parcel could not have been carried by a small boy.
3.¢

This big parcel could not being carried by a small boy.
4, %

Question Number : 23 Question Id : 26449017238 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The teacher told the boy that he was not studying well.

Options :

| The teacher said to the boy,” You are not studying well”.

5 % The teacher told to the boy,” You are not studying well”.

The teacher said to the boy,” He is not studying well".
3.

The teacher told to the boy,” He was not studying well”.
4, %

Question Number : 24 Question Id : 26449017239 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which one of the following options best expresses the given sentence in
Direct/Indirect Speech?
Sentence: The manager said to the clerk, "Have you completed the work?”

Options :
| % The manager asked the clerk if he has completed the work.

” The manager asked the clerk if he had completed the work.

. The manager asked the clerk if the work has been completed.
3.

4% The manager asked the clerk if he have completed the work.

Question Number : 25 Question Id : 26449017240 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one of the following words best expresses the meaning of the

underlined words in the given sentence?

Sentence: It rained cats and dogs last night.

Options :

| % moderately

, w lightly
3 % intermittently

4  heavily
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General Knowledge

Section Id : 264490570
Section Number : 2
Mandatory or Optional : Mandatory
Number of Questions : 15

Section Marks : 15

Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 26 Question Id : 26449017241 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

On which day of the year is the National Education Day observed in India?
PBETIS & Blarid oD ITASS Horr SARTNG?
Options :
March 6
S0, 6

January 14
S8R0, 14

September 8
3 % PROR%, 8

November 11
om0, 11
vy
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Question Number : 27 Question Id : 26449017242 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Internet is a
20655¢5 038
Options :

Network
| % w5 JEIG)

Network of Networks
RTS8 ) G008, B8,
(=g (-2 T

Software
2.8 %Q‘EEE

Server
.8 J[58
[« 5

Question Number : 28 Question Id : 26449017243 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When was India’'s capital shifted from Calcutta to Delhi?
PBETIH Toaerd & JoIE)808® Sosmriod D8 IS pkoh?

Options :
| % 1935
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5 % 1900

L, 1911

4 % 1929

Question Number : 29 Question Id : 26449017244 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

MOOC stands for
MOOC &30 628 Sodn8rsSo

Options :
Mobile Open and Online Course

m@ﬁ '!r.‘ua.r5 E:'_--Ow EWHN?E

1. %
Massive Open Online Course
TS A8 olBS 5

2.
Media-based Open Online Course
H&ce TD LT «F88 5°5

3. % - .
Machine-based Open Online Course
DT BJ T @ 5°5

4, %
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Question Number : 30 Question Id : 26449017245 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Kangaroo's abdominal pouch is known as

Sorrdh 20y ToE) Soderod i’mg P SRS Ter Beid
Options :
Placenta Pouch
RRoEF Jod

Guttural Pouch
, w HeEdS Jod

Marsupium
3 @ ENvlerSvulevsla)
Synovial Membrane
L% RTINS TS

Question Number : 31 Question Id : 26449017246 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

“One class one TV Channel” programme of PM e-vidya expanded from 12 to.

<2 o i R e A ] 3 = g T i
8.000. 3-JEH $owododd el TR wa 8D TRG 12 Dok Q) TID
o

Dotndol

Options :
120
1. %
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, » 200

140

3. %

L« 150

Question Number : 32 Question Id : 26449017247 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Gateway of India in Mumbai was built in honor of
S0orPond® oY SweTto 5 Ty RoEndon?
Options :
King George
v caeiniEle)

Lord Mountbatten
@vg_ ST08) el

Queen Elizabeth
SDEDE oo

Lord Macaulay
=8 Z=T

Question Number : 33 Question Id : 26449017248 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The book “Origin of Species’ was authored by
"l ef W nRR” (ol 8.
Options :
Charles Dickens
=8R G38)

Charles Darwin
T8N oS

Charles Babbage
0% ePIE
3. &

Charles Lamb
4 % P8R P08

Question Number : 34 Question Id : 26449017249 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The name of the virus that caused Covid-19 in the early days of the pandemic is
EENE $I6° &S wolfYS 5DN0DE 3PO8-19 & oo8ngrEId 388 -

Options :
SARS-CoV-2

21/109



7/14/22, 4:34 PM

SARS-Covid19-2

2. ®

Cov-SARS-1
3. %

SARS-Covi-D2

4, %

Question Number : 35 Question Id : 26449017250 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who among the following was given the Oscar Honorary for Life Time
Achievement in 19927
1992¢° £28 ey POFBore @8 TEPY) FoLITEH?
Options :
Dadasaheb Phalke
| g TR e 8,
Satyajit Ray
, v P88

Aparna Sen

ol RS
3. kS (=

Rituparno Ghosh

. » Be0sst) 558
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Question Number : 36 Question Id : 26449017251 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Union Budget 2022 focuses on how many areas
SoltS 2022 0B aY) Sorrep R DEI.
Options :

w1

Question Number : 37 Question Id : 26449017252 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Who is considered the inventor of World Wide Web (www)?
98¢ 28 2T (www) ZRBEMP 588 18R 0?7
Options :
Tim Berners-Lee

LSO e
v 85 35)5) O

Bill Gates
ﬁﬁﬁeﬁﬁ:

Larry Page
o= Tied
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Jimmy Wales
20 IS
-3

Tl

4, #

Question Number : 38 Question Id : 26449017253 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The term Grand Slam is associated with
ol F& &I Sio LIS Jowosool.
Options :
Lawn Tennis

- oy
e E3NE
[

1. ¢

Billiards
&Dmgz,

Chess
witono

Basket Ball

co )l Sl

Question Number : 39 Question Id : 26449017254 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The Sardar Sarovar Dam is a terminal dam built on the river
& J0PS Vopb IS8 oy Aosndod.
Options :
Sutlej

&8s
.

Ganga
Hore

Narmada
eét‘ﬁécﬁ

Brahmaputra
@IRE

Question Number : 40 Question Id : 26449017255 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the theme of the ‘Earth Day 2022'7
‘BT 2022’ @) (Berarodo HE?
Options :

Covid and Planet

| x 508 S0a» (o
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No to Pollution
5 % SPendp BRSO
Sustainable Living

I o :
S850858 &0
-t L.

Invest in our Planet
0% (oS Depnd

4.

Teaching Aptitude
Section Id : 264490571
Section Number : 3
Mandatory or Optional : Mandatory
Number of Questions : 10
Section Marks : 10
Enable Mark as Answered Mark for Review and Clear Response : Yes
Maximum Instruction Time : 0

Question Number : 41 Question Id : 26449017256 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Good Classroom Communication will ensure a

ISP @olod ol 818 10 - &IV DL,
|+, et

Options :
supportive classroom climate
L@ SONENG srErRterld L—’AZ‘}; DEE
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good learning environment
) % S00of) BTV OLCDTER
activity-based classroom
;3 % SPURU0R orrld S0E RO

joyful learning experiences

B5080MP TENDoLNTNN LT
4. % = S

Question Number : 42 Question Id : 26449017257 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher discussing the academic problems of students with other colleagues in the

school is

FEosD ol BEPERoN & &wﬁa&é Roz0Hols Doy HanReD E58 52

TR 3E8 wirgroned® 59 *om%‘ss’:um?&n & DB B3 IBAT o

(2% [=8 e =
Options :
Upward Communication

B o

&wééw B0 B3 Eots)

Downward Communication

éﬁ:éé&ﬁ g0 &JS"’E

Horizontal Communication

™ &atﬁmﬂc BoG aa‘mn”ﬁsﬁi
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Grapevine Communication

05328 55 058T
4. % .

Question Number : 43 Question Id : 26449017258 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

One can become a popular teacher among students by
EQmoe &8 58 Emn;tiéa:éé 08D ©ESn PolS BEPTRIEN’ ©AROHBoERED.
Options :
awarding good marks
008 Artnen vato Toe

handling special classes
(BFEDS S8HSeD THLko T

2. % o = £ -

helping them solve their problems

v DTS DRVRORD ”‘“‘*uc:uct-,'ocﬁ‘“ RFCnRGEL0 TPTE

3. ¥ &

giving learning materials

oRrds Yonofoli &Rl santo roe

Question Number : 44 Question Id : 26449017259 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The best way to maintain discipline in the class is to deal with the studentis
DTSHen oD (EDHE5nS somreod wirgruing 08 PILoTDRD wEd
v}

Jrgo -
Options :
affectionately
L% BERICDHOTP BOKL0
strictly and friendly
PLBOMPIR O ) IFIPOSOMPIF Roto

L=

strictly and authoritatively
PN Sorrar oldn ©LPLE0TIr Bolio

politely, but firmly

v SNTUTL, cﬁ;gﬁom;&r EriE aolito
4.

Question Number : 45 Question Id : 26449017260 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most important element of teaching is
SEIE° es0eS wodo -
Options :
Teacher's Knowledge in the subject

ety ﬁ;{:ﬁxa} DB0H é@@éo
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Teacher-Student Relationship
DERERIOIN0E $m5g§ sotrie Somogo
2. ¢ '

Teaching Techniques

. G568 edwoos Beieben
3.

Technological Aids for Teaching
US55 D@ rN0D oS HESTReD
4. %

Question Number : 46 Question Id : 26449017261 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Effective classroom environment can be ensured by
RDNTH0STI SBHBM0 TEesery) Jptodl -
t &
Options :
lively student-teacher interactions
Dren - SRS 08 I8 B0 B0l SIFEESETN S8
1. \‘.? L= - = 5] ™y s -
advanced technological gadgets
, % OOTSIPN FOTBE HoZToen

pin-drop silence in the class
SEBHLEY Ve ;eSS0

1=

3. %
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high-cost infrastructure

, €8 ST STOS Jhardiren
4.

Question Number : 47 Question Id : 26449017262 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If one wants to become the best teacher, he or she should

JEPT B BITHOND B wd wIrTE IR TTYH0E T8 -

&,

Options :
control the class effectively
SENBIAR HhgHodorr & OHHS® sonsTd.

correct the test papers and assignments strictly
&mﬁ"fﬁ,& 22aee S(FPe SEJOMP uPerRoSto Slovvil 3]

handle the classes humorously

. ausnsnad r“'ﬁp:" CdEorr LEiroTd.
3. >

motivate the students to learn

L “‘mﬁ*rie:““ "50\5’&*‘-' (0D0d.

Question Number : 48 Question Id : 26449017263 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The primary purpose of punishing a student is to

DO 8Zottos® (ZrEE vido DHeod

Options :

Question Number : 49 Question Id : 26449017264 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

If the students show lack of interest in the subject, a teacher should
Foodo DD/CHP DTBoen B8R 5306EE FPonIHE BEGoMEs Do BATD?

show the teacher’'s authority
BEPEROine) 85 efseoed) (@ Sjlelalate

correct the offender

- -
Q8 Lgrao EOAS &

o
5
A
o
o

[:lak
&9
(N

threaten the other students
T Te! a:ﬂaﬁguzﬁa BAoooSEREd

enforce discipline in the class
SERBROE° B85 wiben Dabeeds

Options :

1. %

make his or her teaching more interesting
o008 ©ld S8orr T3S TARD
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teach with real life examples
FEDE £2805%9 srrdrbnw D

attempt to find out the reason for lack of interest
DTS 8t TIPS oo HEoTD
b

teach with stories and songs

, » 580 oroe, Soonroe 55655 Do

Question Number : 50 Question Id : 26449017265 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A teacher can learn the nuances of teaching the subject and dealing with students from
a8 BEPTInd DRErEY) dov SPLomrd, TRES® Jor HHFloTD OF &g
Do HE Hod FENB B
Options :

Students

T e, i E
Slepyevltalal
o)

1.¢

Fellow Teachers
D3 BErEoine ol

Senior Teachers
SHS GarPEEdine ot
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Principals

L % @E&%@: 00d)

Botany
Section Id :
Section Number :
Mandatory or Optional :
Number of Questions :
Section Marks :
Enable Mark as Answered Mark for Review and Clear Response :
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Question Number : 51 Question Id : 26449017266 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

264490572
4
Mandatory
50

50

Yes

Who proposed the theory of spontaneous generation of life?
evbulmpt AN £5 HOeFSY ?’43@;0@&‘3& HBB0DS T8?

Options :
Nageli

| x S0©

Edward Jenner

. ﬂd&@ 55&5
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Louis Pasteur

oot 6
3. o

Robert Koch
oc0b 85
4, % Lo

Question Number : 52 Question Id : 26449017267 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In five kingdom concept, the prokaryotes were classified under the kingdom of
‘DD Teegen’ o3 grl5S® & Dﬂeggéﬁg 20200808 éo@ﬁé IO 250 Eﬁ%é@oaﬁ&:.
Options :

Plantae
P08

1. ®

Anmmalia
3D OSH

2. ®

Protista

Monera

4 & SOJT®
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Nucleic Acid present in Virus
JDOS® &0k BoseRo
Options :

_ « DNA
, « RNA
.~ DNA or RNA

, « DNA and RNA

Question Number : 54 Question Id : 26449017269 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The genetic material of Tobacco Mosaic Virus 1s
SPPEH Soerrons @wE) 23 STE0

Options :

;% dsRNA
, « SSRINA

; » SSDNA
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, » dsDNA

Question Number : 55 Question Id : 26449017270 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The most common method of reproduction found 1n bacteria 1s
erS005S® 10T @&od el (NSRS HE8 -
) o 2 " ) ey o
Options :
Conjugation

000

Endospore formation
woehs DSDes0 DB
2. % “ i
Binary tission
a
» & 2

Transduction

aaﬁaa ST

4. %
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The bacteria employed mn biogas production from cow dung is
@) DED0D OGPTR SHBE® SDBRIHE mﬁééd’m
Options :

Methano-bacteriumni

DESE - Eaﬁéﬁndiao
1.¢ =

Streptococcits

2. %

Thiobacillus
| PTTEERYR

Clostridium
S RE 0D
4, % OO

Question Number : 57 Question Id : 26449017272 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Floridean starch is a storage tood product of
LORIDS @;@ 036 HAE Ho0HoDS &8 Qex &5 ﬁmgo.

Options :
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Rhodophyceae
R

1. %

Phaeophyceae
PG 0
2. % =
Chlorophyceae
SO

3.8 7

Cyanophyceae

Question Number : S8 Question Id : 26449017273 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The fungus Penicillium i1s commonly known as
Bt levvie O HoNRD ArPErSeorT Ber RO
Options :

Water mould

5836 a‘ﬁ“’eg

1. %

39/109



7/14/22, 4:34 PM
Green mould

AS 575

2.

Black mould
ee§ 3°g

3. %

Slhime mould
25 8

4. %

Question Number : 59 Question Id : 26449017274 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Which of the following is right answer
&3 (800 7=0S° ¥BR ddrgrEdo AB?
Options :
All fungi are autotrophs
1% @) 3o(gren Hyabho DFhseen

All fungi are heterotrophs

L o €9 89ogren DESELseen
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All fungi are parasites
P o) Bdolgren Hom: )E25eD

3
All fungi are poisonous
L ) BOo(mren DROEeen

Question Number : 60 Question Id : 26449017275 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Pseudoelaters are found in
gy BB6E HAE® EADEow
Options :

Riccia
. Sk ovvy

Marchantia

' ..IC"\
- oﬂ“D“'&wﬂCﬁj‘:

Anthoceros
- @05‘5 DT

Polytrichum

4 x TO BB
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In Marchantia sporophyte, the spore producing region is
o

o & & : 5
Sromoicir HEDetos® dEderod ¢H)8 T (Froso

Options :
Foot

Seta

Capsule
| 508

Calyptra
50|
£3

4, %
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Mixed protostele 1s found in
QoPE (Hsh (500w %Dﬁﬂ& 50%58° 5T B0.
Options :
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Lycopodium

, S5 R&abo

Selaginella
, VTPEIR

Pteris

s x 8305

Equisetum
. 885

Question Number : 63 Question Id : 26449017278 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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An example of living fossil 1s
DES Bererd8 Srdedes

Options :
Pinus sylvestris
= o "
- POV -:C-'BWL&N

Gingko biloba
v Aol B& e
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Abies alba
RS ST

Cyecas rumphii
DED 503
4. % =

Question Number : 64 Question Id : 26449017279 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Vascular bundles in dicot stems are

RS Ses oros’ T¥se Joeren

Options :
Conjoint, Collateral, Closed

DodnE, JFeard) ¢, Ko
| ® = T e 2/

Conjoint, collateral, open

DOCIWE, }651%%65 2 &éﬁje‘_‘é

— o

2. ¢
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Radial, closed, exarch

aﬁgﬁg, [0S, &y (PES wEED

ay

s

3. %

Radial, open, endarch

aﬁgﬁg, DHS, ©0BY (BHHsH TTOHED
4. %

Question Number : 65 Question Id : 26449017280 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Lateral roots are formed from
%é{& 3%@ 69 Hood ijjoj,ﬁﬁ:l@ﬁw
Options :

Epidermis

e <
e AR wiﬁiﬁéo

Cortex
Seneo
3 7

Endodermis

oy &9 3
- &Géé(ﬁeﬂ
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Pericycle
Slelniisle

4.

Question Number : 66 Question Id : 26449017281 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The plant in which vascular bundles found in pith
Eéégg@'s s Hoeren BOA &) To¥) -

Options :
Achyranthes
| x ©BT0BD

Amaranthus

, x OXDTOH

Boerhavia
FoHb B
3.

Bignonia

iy ==
L &) &Nw
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Phylogenetic system of classification is based on
5D (3S° BISE) a‘jééfﬁm 555 69 esrBorr Srrobosnéob

v @
Options :
External features of plants
. B ey oBeTeeD

Similarities between plants

0B gk O
#®

2.
Evolutionary theory
, 20gg7e0 RTro&0

3.¢

Principles of Genetics

, ENETY SoEren
4.

Question Number : 68 Question Id : 26449017283 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The “Natural system of classification of angiosperms™ was proposed by
@f@é&?&: ‘e aﬂéﬁeﬁaﬁ 55556*%3”&: (HSFBoLHE

Options :
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Bentham and Hooker

v RoGan HdAsH Hre8d

John Hutchinson
. o 5’?@3&5&5

Engler and Prantle

D08 Hbaiw (Frotd

3. %

Cronquist

=088
4. % e

Question Number : 69 Question Id : 26449017284 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Odd petal is anterior in the plants of
22 8508 Do @D“&Dé{}éﬁ &0 SE) -
Options :
Delonix
_, BERE

l. %

Coriandrum
§°Badiro|io
2. ®
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Calotropis

SIORUREEY

[pomoea
4 % 9PD00sT

Question Number : 70 Question Id : 26449017285 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Rutaceae members are rich in which of the following nutrients?
Br&2 S600zrd8 Bohd THS® YA &) oS0

Options :
Vitamun C

Iron

Vitamn D

L x DHDS &

Minerals
4 % DT
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Question Number : 71 Question Id : 26449017286 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In members of the Asclepiadaceae family. the stamens are modified nto

GNADTED Ht00erdS Bodd FES° Sdoren mer P850,

Options :
Syngenesious
2502392055

], ®
Sinuous
D, =

5 % wfﬁ:'(:m oo

Translators
=
E>)Bea5)

3.

Androphore

i} 05986

4. -
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The type of inflorescence present in sugarcane
BEHE® ok DQAT=GS BEO
Options :
Catkin
. 55858
Compound Spike

et ol
, v POCDE B08

Simple Spike
; % 0 B0

Verticellaster

S50 merdd
e L3 -0

4. %

Question Number : 73 Question Id : 26449017288 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Which of the anther wall layer act as a nutritive tissue?
oSS BotioS° R RS [0 A6?

Options :

51/109



7/14/22, 4:34 PM
Epidermis

“op Y
. eTPe3 wiﬁéﬁao

Endothecium

DoEEEADo
2. %

Middle layer

5.13&,55@“6
3. %

Tapetum
" €306

Question Number : 74 Question Id : 26449017289 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The entry of pollen tube into the ovule through micropyle region is known as
Hoer Y0 @oENBo HowE @oEING 8 (HBB0HED BTE HeDRED

Options :
Mesogamy
Sogedod@rio

1. % e
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Porogamy

, » B0G oo

Chalazogamy

\ e8P

Progamy
s u P

Question Number : 75 Question Id : 26449017290 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The endosperm found in tender coconut is
B¢ ?e%_}@é's 5920 Slelcslein)lataee
Options :
Cellular endosperm
| x 589000 0BT

Nuclear endosperm
. §o{§5émé 0BV

2.

Helobial Endosperm
. r&POH S Slektletniatviy

3.
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Ruminate Endosperm

. Sr3es @Oé}éiﬁ&tﬁm

4.

Question Number : 76 Question Id : 26449017291 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Synthetic weed Killer is
58X Bensh Jaeded
Options :

Ethylene
| % OO

Cytokinin
. E°328
2,4-D
" 2.4 —0
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The process of water exudation through hydathode is called
TG 8 wroe A8 Iewndds How (HIBch

Options :
Guttation

S

Transpiration
D6 2. 144
., EPEDE) 5

Plasmolysis

5585 @ﬁéﬁ{]%&rﬁo
3. %

Excretion
L DTS (Do

Question Number : 78 Question Id : 26449017293 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Identify the macro element from the following.
808 =B SreosroseR) HBodod

Options :
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Question Number : 79 Question Id : 26449017294 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pigment essential for nitrogen fixation in leguminous plants?
B3 oG $(e3 D %{;&’353&%?5% SIDRNHD DY (B0
Options :

Phycocyanin
. 25208

Phycoerythrin
L« 25 D@3

Leghaemoglobin

, o O FARAAS
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Myoglobin
s« ORPTAS

Question Number : 80 Question Id : 26449017295 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The energy-capturing reactions of photosynthesis occurs in
88epesdy DoBrHBAD 5ot 8D DoidroD e B wSorHbs

Options :
Thylakoids
Bostonk)

v PUsTONG)

Stroma

2.33(““9&

Plasma membrane
P SelSo
® ™M & o

Cytoplasm
s Sea|83e350
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Photorespiration occurs in
5708 TRBIDD 3T
Options :
Papaya
. caitvialevy
Potato

, x QOO

Maize
- 513%{}@"@\
Pea

4 % E’JU"E%

Question Number : 82 Question Id : 26449017297 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The ‘energy currency’ of living organisms is

a0 TwE) ‘WSO BEQY -
Options :

o ATP
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24
) % Mg

. « NADP

, » FAD

Question Number : 83 Question Id : 26449017298 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The fatty acid found i Gingelly o1l
DI Sr3S® o 5798 @eR0
Options :

Saturated fatty acids

QDo) BPair e9sdeen
1. % o= o i

Unsaturated fatty acids
- ©R0E)D) 57 VAR
Cyclic fatty acids
| Slas Ry edipe

Non-essential fatty acids
@AADeH T edpen

4. %
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Question Number : 84 Question Id : 26449017299 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The hormone responsible for seed dormancy
DED BoaRpHH s=Beagod 54'6'5@15
Q [
Options :
Ethylene
| % OO

TAA

5 % Sale)

Abscisic acid
@INDE @0
3. G

2.4-D

Question Number : 85 Question Id : 26449017300 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Which organelle is having only one unit membrane
D Serorr8 &8 el (Hre 8150 606noh?

Options :
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Mitochondria
. DE°sro@ase

1.

Lysosome
| S

2. %

Chloroplast
L 5080 e0)

Nucleus
L éo@ém

Question Number : 86 Question Id : 26449017301 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The lightly stained and diffused region of chromatin 1s known as
SENS SPo B:HEQ HrdoHw DZBoAS E eSS
Options :

Heterochromatin

, TOFEErES

Euchromatin

, o OOREIPES
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Chromomere

s« B0

Nucleolus

% So|fse030

Question Number : 87 Question Id : 26449017302 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The bond between base and sugar in DNA is
BASIEED S0 b IEBe &% &08 20850 -

Options :

Hydrogen bond
L IS @080
Ester bond
&%5 2050

2. 8

Glycosidic bond
REDAE 00

3.4
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lonic bond
, x @08 oo

Question Number : 88 Question Id : 26449017303 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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The coiling tension created by unwinding of double helix DNA 1s reduced by the enzymes
B0 &.IR.2. @) ©dZodoh wyTe HRoUwlS stondon IBE & Jogwe
TRo° SRodatodod.
Options :

Ligases

| ONden

Endonucleases

. Qo&emj}gcﬁaéﬁn

2.

Topoisomerases
, v S PRS0 E

Polymerases
, % rOI0VEen
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Which one is a terminating codon
% 8o °0S° A& @50 89 ES

Options :

AAA

1. ®

, » UUU

UAA

3.¢¥

, » UCA

Question Number : 90 Question Id : 26449017305 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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During meiosis. in which of the following stage the crossing over occurs?
o B8 QP {¥0oHoS® & 808 TBSY 2 $IS° (sedon L:58 (DAHSH HIBoD)
23801 0eH 08 ?
Options :
Leptotene
., BYP6S

Pachytene
W, =
. oJ g@@
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Zygotene
BES
3 e

Diplotene
| B%p6S

4.

Question Number : 91 Question Id : 26449017306 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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In plant breeding, the most common method used in the production of new variety
of plants is known as

e 20DE0E°, FE Ssro e 6H8S° eHDBrNoD w08 Jrerdn D08~
Options :
Selection and hybridization

v QOoDE DO LVoBBBL0

Selection and exposure to radiation

, % @08 B BETHASH 00 Iohio

Mutation and selection

. SEDSES $B0E Do
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Vegetative propagation
TSR &
4. % o=

Question Number : 92 Question Id : 26449017307 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Which of the following mutation is commonly used in agriculture?
308 T8E° HPFcDH0E® SERIGEmorT SSBrA0D GHBBGHen
Options :

Recessive and lethal

- B85 K050 B (Fresrosso

Spontaneous

QATENENE
2. & e

Lethal
o (Frezr08E0

Induced
, o (208
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The layer of atmosphere in which man and other living organisms live 1s called
Q% Do BEE Edoeven QS0 e Q8o
Options :
Exosphere

8 2noHE
1 ®% e

Stratosphere

(e 095
2. % ia

Troposphere
- (SN DE

Mesosphere

L 513@5%;,&%5

Question Number : 94 Question Id : 26449017309 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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In a biotic community, the primary consumers are
£ 0205308 Bowos® (FEWE DIBrHTSoen -
[
Options :
Carnivores
| % SPORPSTESED
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Ommnivores
- SIONASISNIo
Detritivores
, SFEABERIAY FFoB

3.

Herbivores

o PR Een

Question Number : 95 Question Id : 26449017310 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Which of the following 1s a Lotic ecosystem?

% (80H 95° S°BE eS8 F8 A7
Options :

Ponds
| % Sodoen

Lakes
5 % WOIPED

Rivers

toen

3.¢
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Puddles
e D8 Hotren
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The metabolically active form of Nitrogen in the cell is

-

25 (BaH% $020509 E0S® Boird)E Erkos” Goth JGad A8
Options :
Nitrate

Nitrite
388

Amide
| x ODE
Ammonia

O TPINC5T®
4.9 e
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The movement of individuals out of the population due to the overcrowding as an
adoptive behaviour 1s known as
BES (PIVX reore, ©HE wTege DPVOTP 3.‘12503.5356 6@ SeUE0MT™ 23iPETP i) Od)
PEO BHOED vor 6’355’3&“6%_25313.
Options :

Immigration

| x POJ TEHEO

Emigration
, o DOV

Transportation
.\ﬁg wh B
- =) éa]_n}

Invasion
s 9 Be0ed
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In India. which phytogeographic region shows richest vegetation?
FOERI0S Q PEATFTHE (Frodo o808 HE 058D SOA Gob?
Options :

70/109



7/14/22, 4:34 PM

Western Himalayas

D)0 SerreAiren

1. ®

Indus plain
OLD NTWPRO

2. ®

Deccan
|« B8R (@rodo

Gangetic plain

, o o Feedo
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Endemic plants are
QOKENE F)en I
Options :
Plants are grown in all over the world

-

[BDoPo a=gRore OJE 0N Fwt)en

oy
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Plants grown in certain restricted environments
§°Q) 9500 SrER HOHEBS SnBen
2. ¢ == &

Plants grown in hill areas

&0 (Fromrod® 1ON Iwden
3. % &

Plants grown in one continent
. 2.8 oo’ 267 3135{;&:0
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The most significant cause of dwindling biodiversity is
233000 SAEIQ] 9508 SPeSDS S*BEs0

— 2 0 ) [l =
Options :

Biological magnification of DDT

, ESTRE, 8BS DR)BESe

Global warming

EerCY S0
Y s

2.
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Destruction of habitat
v TP TPEI0 RO
Net primary productivity
QBB (FPE Go\58S

4, %
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Question Number : 101 Question Id : 26449017316 Display Question Number : Yes Is Question Mandatory : No Calculator : None

Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

What is the basis for the classification of Protozoa?
IS > 5885050 e3crEH?
Options :

Mode of nutrition

| x SFPRED 2T

264490573
5
Mandatory
50

50

Yes
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Type of Skeleton

- VD028 BE50

Type of reproduction

s EOLEMRERIE BATARNINWY

Locomotory organelle

L LI OITED

Question Number : 102 Question Id : 26449017317 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Name the protozoan you have studied with alternation of generations?

DY OV (S 2305090 57058 BDes SFOD 1HBB80T £ AA?
Options :
Elphidinm

L Q@;cﬁ’gdno

Euglena

) % oSardar

Balantadinm

3 % 23R GO
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Vorticella

LA

Question Number : 103 Question Id : 26449017318 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Inn hexactinellida the type of spicules present is

25 18T S S0eyseen S50 S0 T —

Options :
Monaxon

| % 0rrE)d

Triaxon

- | BarE S

Tetraxon
3 % CAIlARSATS

Polyaxon

4 % ) 058 S

Question Number : 104 Question Id : 26449017319 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Which of the following 1s the correct set of functions of canal system in sponges?
DYOREDES BT 530 DB 50T SOOI D@ Eromns dE?
Options :

Nufrition. Locomotion. Excretion

| x P8, 0w, DHYS

Excretion. Reproduction. Migration

- OB, |Desedes, e

Nutrition. Respiration. Excretion

A, T8, DHGS
3 '\‘?’? JE' o =]

Locomotion. Reproduction. Protection

4 % OS5, (Dehozed 13, $E e

Question Number : 105 Question Id : 26449017320 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Acorn worm is the common name of

VIS geh :’bﬁ_;_ T0E) PeESEs P00
Options :
Balanogloses
=k

L DOITPIR
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Cepha]adisr:uSS

, % DPSEIR

Peripatus
s x DOERER

Rhabdoplura
e
St Vien

Question Number : 106 Question Id : 26449017321 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

A coral known as ‘sea fan’ 1s

"R IR DENIDTB (T F I IE?
Options :
Tubipora

| x 052 ErS
Pennatula
FARVR LAV

2. %

Alcyonium

3 % e3¢) JAFFRTDO
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Gorgonia

l:h‘ll nt
4 TT“@EPUQ}T

Question Number : 107 Question Id : 26449017322 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Chromosome with centromere near the end is called

NOEFPDADE Srdo B5TrTEDH 8 Bomrs® ©od zer wotrd

)

£

Options :

Telocentric

S0 05

Metacentric

5 % EFROEE

Acrocentric
3 ?JLSEEG@E

Submetacentric
o

4 % REERFROES

Question Number : 108 Question Id : 26449017323 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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Miracidium is the larva of
WT BN BDE SR T3 GoEAn

Options :
Fasciola

| o TRTrer

Taenia

3ok
2. %
Oxyuris

\ es8 yar8n

Ascaris

4 % BUL00

Question Number : 109 Question Id : 26449017324 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Pseudocoelome is present in which of the following animals?

& 1808 BOHOS TBAGNOCD TS F8SZT BN 0.
Options :
Taenia

| % 63D
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Pheretima
, % OBSy

Ascaris

3 &) 80

Hirudinaria

FEGPEOT

Question Number : 110 Question Id : 26449017325 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Eggs of reptiles and birds are of which type?
JEYTren Hbdn HHe 1HEy & 508 Tosdd

Options :
Alecithal
| x DS8558rS

Isolecithal

, x Sobas

Macrolecithal

Spedhsx
3.4 @
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Heterolecithal

DRSS

Question Number : 111 Question Id : 26449017326 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Based on the nature of excretory products the leech can be called as

DAGE HerrT e SaraHal d5erard) 28 2K DR DEISTNY
Options :
Ammonotelic

- O3S BEE

Ureotelic

, x COrédred

Uricotelic

; % Or88®OS

Ureotelic and Uricotelic

o % RSar8BrBIdE SHoaAkn oros’

Question Number : 112 Question Id : 26449017327 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In cephalochordates gill slits open into
nHet 9@&5@5 Sy HD5en DHS°E BLroLEOD
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Options :
Pharynx

1. ® Lvﬁiﬁ

Atrium
) S&cho

Coelome

s 5SS

Heart
a’igr:ﬁcﬁm

Question Number : 113 Question Id : 26449017328 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Peripatus 1s a connectfive link between
DETED OB 305 90208 Rk

Options :
Annelid & Arthropod

- 03)mF & | O

Annelid & Mollusc

- RO & BN
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Arthropod and Mollusc
3 % o9 O & Swerdy

Annelid & Aschelminthes

L% OTOT & SLE0HD

Question Number : 114 Question Id : 26449017329 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Temperature dependent sex deterimination is abserved in
oS ooe Dondoedn & EPod® HORRED

Options :
Drosophila

- & em

Amphibia

5 % ©oaddr

Reptiles

o ot

3 wu%%ﬁu‘

Sea archins

£ =, B
4 % o~ E‘.‘Ell..gjw&l}
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Question Number : 115 Question Id : 26449017330 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Butterflies and Moths belong to the order

0eE% Denden N8N Dstren S (E5r8 TodNE
Options :
Hymenoptera

1 %8 ?‘ijn‘}ﬁ‘j éé:%gtjn

Hemiptera

) % A reion

Lepidoptera

s v BVE YO

Thysanoptera

BIS Do
4. % =

Question Number : 116 Question Id : 26449017331 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Genes for colour blindness in man are located on
5B’ S'JU;G;ID@E‘:JK}E So20BoNS e S E SRt Sow E);Efsoé{' BOLTon

Options :
x - chromosomes only

3500 x- FTPRD)

1. ¢
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y - chromosomes only

SS00 y- (B arR%)

Either x or y

3 X &P y

On both x and y chromosomes

4w X o y B RrPHeR

Question Number : 117 Question Id : 26449017332 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Dentalium is commonly called as

BOLFOON 0 TGO QET 6356363830
Options :
Apple snail

% DS S

Tusk shell

) v 505y Dok

Cuttle fish
3 % oﬁ)dﬁ)ﬁ) 1_3'?5:}
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Sea hare

4w 0s50(CHe) Lo0mew

Question Number : 118 Question Id : 26449017333 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which one 15 known as "Mother of Pearl"?

‘SnErse) SO T HENIDBE IO?
Options :
Nifra

| x O

Limtu

, & Q0D

Diya

Nacre

e

Question Number : 119 Question Id : 26449017334 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

An ability of gene to have many effects is

21

oI5 [Brarod 50N ok wky) T o -
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Options :
Phenotype

% cﬁ;%&dﬁéo

Epistasis

| SORRT

Dominant gene

oy By P
3 % Sod ﬁé ;...-MJQM

Pleotrophy

TS
4.4 ™

Question Number : 120 Question Id : 26449017335 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which is the animal that you have studied exhibits Retrogressive metamorphosis?

DB HEDS STEF 20dHOS BFTS EFHNEOH 228 £ AE?
Options :
Latimeria

Anguilla

, » @ofger
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Ichthvophis

; % RETFDD

Herdmenia

- EeEeR AoV

Question Number : 121 Question Id : 26449017336 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The embryonic respiratory organ in chick is
S8 Homrd0s® Rdab edabdo
L
Options :
Allontois

| v @Boo

Chorion

)y TOAHE

Yolksac
3. % Fﬁ“ﬁﬁoa

Amnion

(ZEvovorts]
4. % =

Question Number : 122 Question Id : 26449017337 Display Question Number : Yes Is Question Mandatory : No Calculator : None
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Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Aristotle’s lantern is seen in

o857 ¢3S HHadw AAS Gotnod.
Options :
Asteroidea

| % SRTONGAD

Echinoidea

oh
-~ D8 oNGAD

Ophiuroidea

3 % 2ArGondad

Crinoidea

L BSandad

Question Number : 123 Question Id : 26449017338 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The subunits of 70 S ribosomes include
70 SPERES @) wHsreeen
Options :

40S and 60 S

_ 40 S 5»8d%» 60 S
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30Sand 50 S

) & 30 S S0&ci 50 S

20Sand 50 S
- 20 S ap&ain 50 S

30S and 40 S

4 % 30 S 30ain 40 S

Question Number : 124 Question Id : 26449017339 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The larva of hemichordates is

TS0y Bwd) BosEsw
Options :
Redia

1% 6{%(&“

Ephyra

) w BT

Cercaria

00808
®

Tornaria

i ¢ 60
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Question Number : 125 Question Id : 26449017340 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Nauplius larva belongs to
T RODD G0ESN HVE ToLod.
Options :
Insects
| x Sesew

Shrimps

(2205,
2.9

Echinoderms

BB en

3. %

Molluscs
4 % SNORZED

Question Number : 126 Question Id : 26449017341 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Characteristics of Urochordata is having a tail and a

FES ren A 08 oo ArSsler gy ©f eskw.
Options :
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Backbone
| x D008

Spinal cord
5w SI0)ETEN

Notochord

1 DIRS0FSW

Buccal cavity

4 % SO550 G0

Question Number : 127 Question Id : 26449017342 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following organisms neither have notochord nor vertebral column in the adult
stage?
805 DT20Y @ B 1B1¢h 935 HYS50%50 52 BT 08 570 B 0CHED?

Options :
Amphioxus

€805 OIS )0

1. ®

Herdmania

) v DA
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Peteromyzon

DS

Bdellostoma

4. % BSOS

Question Number : 128 Question Id : 26449017343 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which group is called “Agnatha™?
295535 DEFNTTEN” T &) NeFETO 3 5e9eT 80T 5OE?
Options :

Tunicates

AV LN

1.

Amphioxus

, % BONATEI0

Cyclostomata

v SRV A

Ascidia

4 % VGRS
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Question Number : 129 Question Id : 26449017344 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The type of scale seen in Elasmobranchii is

QerFy 2o & S $E0 Srenduen QDT ow.

Options :
Ctenoid

| Sront

Placoid

Q‘u =
, o sronte

Cycloid

3 % REfe

Ganoid

4 % oot

Question Number : 130 Question Id : 26449017345 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Alytes 1s commonly called as

OO o) SE3R D QET° DENH2CESO.
Options :

Clawed toad

s"on& G

1. ®
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Midwife toad
W& 3D &6
2.9 =

South Indian toad

s & TS BOGOHS 6

Burrowing toad

L w 2 Sonof 56

Question Number : 131 Question Id : 26449017346 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The comimon Indian monitor is

e 275300 SEDES T e SDEE

Options :
Varanus

| @ RTROD

Chameleon

, % SOATS

Draco

5w &8
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Mabuya

4 % 002N0OD

Question Number : 132 Question Id : 26449017347 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
The largest living bird is

EoD) ) @S DR HE -
Options :
Kiwi

% 8

Emmn

5 % S8

Cassowary

, x SSB

Ostrich

4 BLAS

Question Number : 133 Question Id : 26449017348 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The order Insectivora comprises

ARBIES 0" |Z8558 BoASH.
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Options :
Echidna

Opossum

08P

2. ®

Vampyrus

Hedgehogs

23703 o3P0
4. &

Question Number : 134 Question Id : 26449017349 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The erythrocyte has a shape.
DS S8%ea0 e570°0), $OR Soenod.
Options :

Spherical

| % Pesdo

Convex

) % Sooerstoo
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Concave

- Dersedo

Bi-concave

4w O Qers o

Question Number : 135 Question Id : 26449017350 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which of the following organelle 1s called the *suicidal bags™ of the cell?

b " W, w4 i
& 806 Segrorered De3D "e3E 03 HoTHEN T DENTE?

Options :
Cytoplasm

| % RETBD

Lysosomes

BAEFD)
2.¢

Mitochondria

0B O

3. %
Endoplasmic reticulum

L D0EarS Be3érrio
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Question Number : 136 Question Id : 26449017351 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Example for polygenic inheritance is

BT O 08 STt —
Options :
Skin colour in man

| v 0D G0 o

Polydactyly
s

Colour blindness

x 00N S ANEPHCHO

Harelip

4 % o0

Question Number : 137 Question Id : 26449017352 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

When two homologous chromosomes fail to separate during anaphase of cell division is called

%60 252505 TNE) IS 5% HHAH0S” Bodk Habered (FFRrEHinen S
BD025%000F GOETRY) o0 E0?
Options :
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Heterogamesis

L ore38HLRD

Non—disjunction

TR — G 2208 &
2.

Crossing over

3 % (S°OON 2,050

Question Number : 138 Question Id : 26449017353 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The idea of use and disuse of organs was given by

9550053°€> BNEY, AR DB ABIDTITTOE H02OA0DS e85 TSI

ATARINEw oV
Options :
Lamarck

| @ ATy

Morgan

5

5 % TR
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Darwin

; & 05D

Hugo de Vries

4 % SO & IDD

Question Number : 139 Question Id : 26449017354 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The fertilized egg divides by the process of
HOEEE0 TOOS HED € (D BAH o 5o DsBotdnchednod.

Options :
Oogenesis

| % @035

Cleavage

) TR LN IN G

Regeneration

S E0es )

3. %

Invagination

L 2905 c8ds50
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Question Number : 140 Question Id : 26449017355 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The normal diastolic blood pressure in a normal healthy adult human is

2.8 B S B HEEDS STITBNES s SoSrards S5
Oes 5otNod ?
Options :

80 mm Hg
1.¢¥

, % 60 mm Hg

3 % 90 mun Hg

4% 110 mm Hg

Question Number : 141 Question Id : 26449017356 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

This hormone is responsible for “fight-or-flight™ response

& 5582090 "DE-Brr- " (D07 S HEraDS H*81S) @D (HE

(57

03
2380565 HareNod.
Options :

Thyroxine and melatonin

% BOEIS 50050 BOEDS
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insulin and glucagon

20308 85 EmS

2. %

Epinephrine and Norepinephrine
o DR DR NEAN 0 DD D

oestrogen and progesterone

4 x SITES DB SERYES

Question Number : 142 Question Id : 26449017357 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The recycling of elements in an ecosvstemn is called
v, 6 v ¢
208 DTS 3590Y Bl SNTPEIBTE) etz oI EHED ) o)aOET?

Options :
chemical cycle

| % ORrPADA 3OO0

geological cycle

L 8 T SO0

geochemical cycle

| 57 STODHDE S
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biogeochemical cycle

s o &5 2T DS S

Question Number : 143 Question Id : 26449017358 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Enzyme used in shotgun technique of DNA isolation is:

B.DS.D. DFBAS B 'are 58 BEIE S SHBFAOT 0Bss0-

e
Options :
Restriction endonuclease

v BIRE.S Do&drs8adhes

Polymerase

SEOTHOD
2. %

Transcriptase

L ETS R RR

Si Nuclease

4 % SicrsSones

Question Number : 144 Question Id : 26449017359 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
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The most popular and widely used engineered plasmid vector is
JEE 2oudloRS® JEHe Ent B8 s
Options :

uc
1. ® P

, pBR322
2.

5C101
3. ¢ i

. pUC19
4.

Question Number : 145 Question Id : 26449017360 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The PCR (Polymerase chain reaction) Technique was developed by
PCR (&03:0E B8 Coirgl) 8850 ofg ST =538

Options :
Kohler

Altman

) eagaa:ﬁ

105/109



7/14/22, 4:34 PM

Milstern

Ty, M T
- “OE‘EEEA

Kary Muller

L% se030el

Question Number : 146 Question Id : 26449017361 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

The Physical method of gene transfer is -

2508 OO TEy 2TBE HOS -
Options :
Bacterial transformation

" 2800HS (£576500 AS

Electroporation

v Jo| §FBAS

Ca phosphate co-transformation

Caor)® & 65]) H8 DAS

3. %
Micro injection

L D8 2028 S
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Question Number : 147 Question Id : 26449017362 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

In PCR denaturation of DNA occurs at

2.2.635. DA (HEAD) ' B.DS.2. DTF0 28 255008,
Options :
94 °C

| ¢ 94°C S5O

84 °C

84 °C 5
2. %

64° C

4 % 64°C SR

Question Number : 148 Question Id : 26449017363 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

Which harmone is not secreted by anterior pituitary glands?
Sl (fod rorwolls Dol Dy =0 HEYT?
Options :

| & ADH

107/109



7/14/22, 4:34 PM

2. % GH

Proclatin
3, % @O0

, » FSH

Question Number : 149 Question Id : 26449017364 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

‘Nitrogen Fixation' means conversion of atmospheric nitrogen to
"HPud I odrr Teradn ZEtelh S dforr SR8 o
= T
Options :
Nuclic Acids
| SozrEzen

Ammonium ions

5 % OIFNCN0 VAR

Ammonia

- s
3 SEFAT

Proteins
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Question Number : 150 Question Id : 26449017365 Display Question Number : Yes Is Question Mandatory : No Calculator : None
Response Time : N.A Think Time : N.A Minimum Instruction Time : 0

How DNA can be a useful tool in the forensic applications?

PBIE @S5G OS’ 2.8 GHTEEEEDIS TTOSOMT B.IS.0). DeT GOEDOL?
Options :

Showing different degrees of polyimorphism with saliva

erer 23008 OXT8 320 BE); VNG GBS Hryeod.

1. %

Showing the same degree of polymorphism with hair follicles

o TR Gy, FIED ) & IOST8 20 TnE) 9B AN )0 d.

By not possessing any hereditable information

- &) DS 7 Sdeh 5 DArroRy $OR GO

By the presence of lysozymes in it

@8 SFZEan) O30E) A8 DA od

4. %
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